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int x=0;

x=31/( 19% 5 +1);
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it a=0,b=2,¢=2,d=0;
a=b+ct++;
d-=b+c;
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int a, result=0;
for(a=10;a<15;a++)

result=result+a;
ﬁ**************
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int x,y,z=0;
for(x=5;x>=1;x--)

for(y=1;y<=x;y++)

Z=7Z+y;
printf("%d", z);
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int p=0,q=0;
for(;;) {

mmt r=0, s=5;

if (p++<=200) {

qt++; pt+; r=rts;
}
else {
r=r-s; break;
}

!
printf("%d",q);
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int numbers[10]={1,2,3,4,5,6,7,8,9,10};

int i=0,j=0;

while (i <10)

{
J=j+numbers[i];
=it2;

}

printf("%d", j);
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#include<stdio.h>
int myFun(int);
int main()

{

int x,result;

printf("Enter an integer:");
scanf("%d",&x);

result= myFun(x);
printf("%d",result);

return O;

}

int myFun(int n)
{
int flag=1;
if (n <=1) flag =0;
for (inti=2;1i<=n/2;it++) {
if(n%i1i==0) {
flag = 0;
break;

}

return flag;

}
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